
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

1685, 5 × 0.001 = ________ 6905, 5 × 0.1 = ________

1356, 4 × 0.1 = ________ 4672, 9 × 0.1 = ________

1312, 2 × 0.0001 = ________ 9014, 7 × 0.1 = ________

5270, 3 × 0.1 = ________ 1219, 8 × 0.1 = ________

2349 × 0.001 = ________ 3968 × 0.1 = ________

1890, 7 × 0.1 = ________ 9849, 8 × 0.0001 = ________

7017, 3 × 0.001 = ________ 3081, 8 × 0.0001 = ________

8509, 3 × 0.01 = ________ 3727, 3 × 0.0001 = ________

1636, 8 × 0.001 = ________ 6957, 3 × 0.1 = ________

5874, 7 × 0.001 = ________ 2985, 1 × 0.01 = ________
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

1685, 5 × 0.001 = 1.6855 6905, 5 × 0.1 = 690.55

1356, 4 × 0.1 = 135.64 4672, 9 × 0.1 = 467.29

1312, 2 × 0.0001 = 0.13122 9014, 7 × 0.1 = 901.47

5270, 3 × 0.1 = 527.03 1219, 8 × 0.1 = 121.98

2349 × 0.001 = 2.349 3968 × 0.1 = 396.8

1890, 7 × 0.1 = 189.07 9849, 8 × 0.0001 = 0.98498

7017, 3 × 0.001 = 7.0173 3081, 8 × 0.0001 = 0.30818

8509, 3 × 0.01 = 85.093 3727, 3 × 0.0001 = 0.37273

1636, 8 × 0.001 = 1.6368 6957, 3 × 0.1 = 695.73

5874, 7 × 0.001 = 5.8747 2985, 1 × 0.01 = 29.851
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